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tXbITTLDE YV

%{@ /;%/L'_

n! —
P({n;}[{p;})=———p" - P" #Ra 7 — 4« (Roeder (1990))
Ny ! 0520000020 41813 6
119612000002 0 10
f(pl,---,pk):C+anlog o
i = B Sz log-LK AIC
p, =—- 28 -189.19 | 432.38
n
14 2197.72 42143
n
AIC, = (- 2){C+Zn 1og£ j}+2(k—l) 7 -209.52 431.03
J=1
RAF—ZDE R 55 A AICE /N Sl E
20 40 80
_ k=28
15 30 [ ] 60
10 ] 0 | 40
5 i 0| 20
0 bl s L om = = _
7 9 11131517 1921 23 2527 29 31 33 7 O 111315171921 232527 20 31 33 11 15 19 23 27 31




o\

-/

JLZERB: 3 DRZIKD

-

i

iR

-7.99 -401 -156 -099 -093 -0.80 -0.77 -0.71 -0.42 -0.02
0.65 0.78 0.80 1.14 1.15 1.24 1.29 2.81 4.84 6.82
| L L ] L ] - + » * L ] L ] L ]
| | |
L5 0 3
Pearson ' fifk (type IV)
C
2
FCylu,77,b)=——-=
(Y +77)

C=7""T)/T(b-LHry)

b: TK/IT A —KDER

IR 1 3R T R




AICIZE S M DRIRD
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iR

f(y|u,r°,b)=

C

(o oe)

N
U(u,7%,b) = logf (y, | 1.7°,b)
n=1

N
=N {(b—Dlogz* +log['(b) ~ log(b— )~ log [(})} ~b D log{(y, — 1) +7°|

D [Z&KBINTA—BEAICDZEIL

b 1 T2 Log-L AIC
0.60 0.801 0.030 -58.84 121.69
0.75 0.506 0.431 -51.40 106.79
1.00 0.189 1.380 -47.87 99.73
1.50 0.185 4.152 -47.07 98.14
2.00 0.201 8.395 -47.43 08.86
2.50 0.214 13.87 -47.82 99.63
3.00 0.222 20.21 -48.12 100.25

00 0.166 8.545 -49.83 103.66
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1%

Box-Cox Z i

L _ ANyl =1) forA=0
n logy, for A=0

h
g(y)=‘dd—ﬁ f (h(y))
y

dh,

AIC', = AIC, -2log
dy

® Tt DETIDAICTIZE
ETFILERIZTE LU

® R¥—KIZHT BAIC
HEB A

aa . YRy
ZERP| © Box-CoxZ #
whard 7 — %
4000 r
3000 r
2000 r
1000 ¢
O | |
0 24 48 12 96 120 144 168 192
8 (y ) = % f (h(y )) Box-Cox transformation f (Z)

038

z=h(y)

—
¢—

y=h"(z)

Inverse transformation




Box-CoxZ#a M ER

A XTETE AIC AlIC’
1.0 -1191 2388 2388
0.8 -1187 1936 2379
0.6 -1183 1486 2371
0.4 -1180 1038 2365
0.3 -1179 814 2362
0.2 -1178 591 3273
0.0 -1176 146 2357
-0.2 -1176 -298 23b5
-0.4 -1176 -740 2356
-0.6 -1177 -1181 2357
-0.8 -1178 -1620 2360
-1.0 -1181 -2058 2365

g1\ AIC vs. 4
2 &
. " best 1

2365

2355

2000

1000

285 2980 2585 300

WHARD E7F—%(1=1)

| | | | | |
1968 1970 1972 1974 1976 1978

. transeformed data AlIC&/)\(1=0.3)

I I I I I I
1968 1970 1972 1974 1976 1978




data(Sunspot)
plot(Sunspot,ylim=c(0,200))

plot(Sunspot,log="y")

1750 1800 1850 1900 1950
-
s ]
[Tg]
lo o
g yn o
o |
(e ]
S _
[ [ [ [ [
1750 1800 1850 1900 1950

« KBESHORT—XIZEIZL->TWS
o« WHEMT B L TICRD




AICICK 2 EHE/NT X — X DE
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data(Sunspot) # Sun spot number data

boxcox(Sunspot)

lambda aic
1.00 2360.26
0.90 2335.22
0.80 2313.48
0.70  2295.33
0.60 2281.11
0.50 2271.26
0.40 2266.32
0.30 2267.05
0.20 2274.59
0.10 2290.79
0.00 2318.78
-0.10 2363.66
-0.20 2432.86
-0.30 2534.61
-0.40 2673.75
-0.50 2848.16
-0.60 3050.32
-0.70 3271.90
-0.80 3506.54
-0.90 3750.16
-1.00 4000.25

LL' aic LL
-1178.13 2360.26 -1178.13
-1165.61 2174.47 -1085.24
-1154.74 1991.98 -993.99
-1145.66 1813.07 -904.54
-1138.56 1638.11 -817.05
-1133.63 1467.50 -731.75
-1131.16 1301.81 -648.91
-1131.52 1141.79 -568.90
-1135.29 988.58 -492.29
-1143.40 844.03 -420.01
-1157.39 711.27 -353.63
-1179.83 595.39 -295.70
-1214.43 503.84 -249.92
-1265.31 444.85 -220.42
-1334.88 423.23 -209.62
-1422.08 436.89 -216.45
-1523.16 478.30 -237.15
-1633.95 539.12 -267.56
-1751.27 613.01 -304.51
-1873.08 695.88 -345.94
-1998.13 785.23 -390.61
lambda = 0.40 AIC' minimum =

mean

4.909502e+01
3.545844e+01
2.591126e+01
1.917397e+01
1.437922e+01
1.093610e+01
8.439901e+00
6.611858e+00
5.258840e+00
4.246205e+00
3.479466e+00
2.891856e+00
2.435839e+00
2.077302e+00
1.791544e+00
1.560501e+00
1.370809e+00
1.212437e+00
1.077716e+00

variance

1.575552e+03
7.049401e+02
3.199262e+02
1.474669e+02
6.914276e+01
3.303737e+01
1.612487e+01
8.065706e+00
4.155209e+00
2.222464e+00
1.250918e+00
7.574966e-01
5.096385e-01
3.947690e-01
3.595107e-01
3.814048e-01
4.562814e-01
5.937308e-01
8.175441e-01

9.606427e-01 1.170321e+00
8.563591e-01 1.722986e+00

2266.32

10
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2 D Box-CoxZ 18

AlIC’
g L]
e | o
1N
8 .
e %
7 4
= . best 4
m 1 \\.
o -\
L] ) ) -
Lo ™
E ."o---"...
| I | | I
-1.0 05 0.0 0.5 1.0
§ e o/
1N i
2 - .\, /'/
o —e_@—*
I I I I I I
0.0 0.2 04 06 0.8 1.0
data(Sunspot) # Sun spot number data
boxcox(Sunspot)

#AICDOZ7 Oy b
z <- boxcox(Sunspot)
X <- seq(1,-1,length=21)

plot(x,zSaic.z,col="blue", type="b",pch=19)

100 150

50

15

10

Sunspot
_I I I [ I
1750 1800 1850 1900 1950
transeformed data A=04
[ [ I [ [
1750 1800 1850 1900 1950
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7% DR —1

Data Set 1
0.26 -1.33 1.07 1.78 -0.16 0.03 -0.79 -1.55 1.27 0.56

-0.95 0.60 0.27 1.67 0.60 -0.42 1.87 0.65 -0.75 1.52
Data Set 2
1.70 0.84 1.34 0.11 -0.88 -1.43 3.52 2.69 2.51 -1.83

f(y|up,z), ye DataSetl
f(y|u,,z), ye DataSet2

() #IRERL A
2) of=0;
(3) w=m,
@ =1, 01 =0,

J

12



5% DR

il l AIC i, Gl G
7L -48.411 104.823 0.310  0.857 1.033  3.015
62 =62 -50.473 106.946 0.310  0.857 1.694

0, = [, -48.852  103.703 0.438 1.049  3.191
i = f,, 6f =65 -51.050 106.101 0.492 1.760

A (ETILOR—M)
1. Zieatgd () #ERFEEZ)
2. BRTEBRERIETIL

13
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AR EZ & S EHBEOERNABEZLRT 2ET IV

« HABETIL - - - ODEOOTHTHEA (ZERXAY)
« EOREETIL - -+ WL DOHADZEETELBR
- BEMEFEETI - - - BED(ETEREA

1. NIXA-—XHE HKLE &N_FE

2. RELER AIC

3. BHUER AIC

4. ETILER AIC
B [a])F RECGER, T VER (FIEA, =AEH-ALY)
EE R EER
SF=AEl REOEIR, REGER

FERIENE ETILER, EHCGER, REGER
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Iml
Tyl
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2
y,=aXx +---+a X +& &, ~N(,0%)

y SREE m: RE e BE
ST o ERIRER o BESH

nl nm °

NS A—%  0=(a,-,a,0)

IRETIVHED DHERN

DYy 10, X0 X)) ~ N2, X,,07)
j=1

— (272'02 )_% exp{— 2;2 (yn — i ajxnj)z}

=}

[mll

O




Tnlll
1)l
D

I2ETFILDOINEE,

Mt

NTA—=% O0=(a,,a,,0)
=_ % Y, XX b (n=1,...,N)

N
L) =] ] p(Y, 10, %05 s Xom) TE
n=1

N
(@) =logL(0) =D 1ogp(Y, 16, Xy, Xpy)  HEELE
n=1

m
-2 ajxnj)z}
=1

1 1
P(Yn 10, X e s X)) = eXpPy— =
9) 20

| 1 m
log p(yn |89 an?"'ﬂxnm) - _Elogzﬂaz B (yn _Zajxnj)z
]=1

20°

m

N ]
Z(@)z—;logZﬂaz—zo_zz (y, - Zaj X, )}
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U'FEE"—E 7_' l/d)ERjEEFEA

Tl
Ty
|l

max ()= 0=(4,,--,4_,6%)

or(6) N
80_2 :_20_ Z(yn Zal nJ
—Z(yn Za, i) a; DIEICEIRA < 6 DRAHEMILRE 3
N .. N

/(a,,--,a,)=——log2nc" — —
(a, ) 7 g )

max /(a,,"--,d_) < ming”’

[ RIZIEREERET LDIFE | &AE &/NZFE ]




Tnlll
1)l

|
—
=1l

=TIV D B/IN_FHEE

Yy =X, +--+a X, +&,

y, B

m : 2R
Y X,
P
 Yn Y
y=2Za+¢

g ~N(0,6%)

TH Xy Ko BAEH

nm

a EREE & BE ok BESH

X | _6' | - -
ml,e=| 2|, a=|:
. A
X Nm _EN ] -

y HBEZE#H#A~NZ ML
Z ERBAZ#EITY
a
E

AR~ b
TRENYT L

\ &

JJ R

X
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B

o 1< N
5 =850, Sa =ly-zal, <l
n= j=
A2
@; =Z'(y-Za)=0 Wy Z'y=Z"Zamy a=(2'2)"'2"y

_a1_ i Zxﬁ inlxim—_l_zxilyi_
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S mFET IV (BANEALE LAIC)

AlCy =260 (0) + 2K m: T L OREK
gm(é)Z—Elogbﬂ%—E K: /N5 XA —XRF
2 2
k=m+1

AIC, =Nlog2z62 + N +2(m+1)

0 10 20 30 40

AIC =Nlogé;: +2m

ICEHEBEFTCEEL TEW E=ALRN LW
-BlDETIV (JR) & DA AEEICHE B

20



Z AT [B])F

i Xi Yi

1 0.00 0.125
2 0.05 0.156
3 0.10 0.193
4 0.15 -0.032
5 0.20 -0.075
6 0.25 -0.064
7 0.30 0.006
8 0.35 -0.135
9 0.40 0.105
10 0.45 0.131
11 0.50 0.154
12 0.55 0.114
13 0.60 -0.094
14 0.65 0.215
15 0.70 0.035
16 0.75 0.327
17 0.80 0.061
18 0.85 0.383
19 0.90 0.357
20 0.95 0.605
21 1.00 0.499

x <- seq(0,1,length=21)

y: BRZE  x: REBZEH
yeq - .
-l I I I I I I X
0.0 02 04 06 08 1.0
y=a,+ax+--+ax"+e &~N(0,0%)

2
H:(ao,al,---,ap,a )

y <- ¢(0.125, 0.156, 0.193, -0.032, -0.075, -0.064, 0.006, -0.135, 0.105, 0.131, 0.154, 0.114, -

0.094, 0.215, 0.035, 0.327, 0.061, 0.383, 0.357, 0.605, 0.499)
plot(x,y,pch=19,ylim=c(-0.2,0.6))

21



ZIRAEFET IV

y, = T (X)+t¢
f(x)=a,+ax+---+a x", & ~N(0,0°%)
Vi ~N(;,0°), py=a,+aX +--+a,X'

y=a,+& f y=2a,+a,X+a,x +é&
F(y|%) (Y%

7 y=4 x 2
// ______ Sy A y =2, +aX+a,X

-
-
~—_—————

X X

22



ZIERERET IV
- _
Xi =X, j=1...,m+l]
a:(a()aala“'aam)-ra H (a() ala ) ma 2)T
A N . N
S [n(0)=——"log276, - —

RS A —

2 K=m+2

AIC_ = Nlog2rc

24+ N+2(m+2)

AIC, =Nlogé: +2m

23



% IE 3\ [a] )i D R EUEIR

0.06 0,\_2 9:(a0,a1,”',ampo-2)
— —— N RN N 2
P o B |1 B T z(e)=—3log(27wz)— dlyvi=>ay,
_ 2

/ 270” - -
002 0(0) = —%105;(27[&2) - %

AIC, =N(log2z +1)+ NlogS” +2(m+2)

0.00 m

B AIC, RE NTA—E FEESE AIC
. 1 1 0.05889 2.12
0 2 0.03427 -7.25
w0 1 3 0.01669  -20.35
20 2 4 0.00866  -32.13
3 5 0.00839  -30.80
'30 4 6 0.00800  -29.79
40 m 5 7 0.00798  -27.86

24



HE S N7-ZERRIRERE (m=1,...,5)

0.8

0.6 .

0.4 .

[ )
0.2 o
W
0
([ ]
® ( }
(]

0.2




True Model :
Yi = eXp{(Xi -0.3)° }_1 + 0.1
gi ~ N (091)
X. =0.05(1-1), 1=1,.,21

FE
ZIEREFET /LIETrue
Modelz & A TWL LY,

26




vIal—IarsER(L=10)

-0.2

0.2

0.4

0.6

0.8

-0.2

-0.2

0.4

0.6

0.8

27



HW>EETIL

FIZ L, BEROFRIMEN 0 & BB ExF->TWLW =6

2 o N —_
Yi :a(xi +ﬂ) + & INTG A—=ZHPLEDEWNET IV
éO él éz o 2 AlC Cf=1.1515
#lf4 L | 0.1116 | -0.6590 | 1.0969 | 0.00866 | -32.13 'éB - _9’3035
=
HFIfTZ | 0.1061 | -0.6990 | 1.1515 | 0.00875 | -33.92 éo _» AIBA
=
0.8 08 4, = Aﬂz

B LETIL | HWfTEET IV

28



FRIANDICFE

b = |

mETI (ZERK, ZABREK) L3 Ly N#EEE
y, = F(X)+eé giNN(Oagz)

f(x)=a,+ax+---+a x"

m

m 4
f(x)=a+ ) b, sin(jwn)+ ) c, cos( jwn)
j=1 j=1

29



BEETET—% (=

SESEY

»

o|J{ET L)

data(Temperature) # Highest Temperature Data of Tokyo

Isqr(Temperature)

y, = f(x)+e
g ~N(0,07%)

f(x)=a+ > b, sin(jwn)
j=1

4
+Z C; cos( Jwn)
j=1

f=m Fx7lEg m-1

2500 3000 3500 4000

Temperature
and regression curve of the model with order 20
; : Jo o M
0 l( W”} e
cacll m" .Ju..ll
. ,| [
= Jnh'l'{l‘l .\} T Hlll_ [
i I it |
. ll ,“1'1 L“ an T l il .|,,-]‘ '
= 1A 0l ||]‘TWW”]
I | | I
100 200 300 400
AlICDZAL . AICHZL (FEK)
\ 2 \ e
.‘. E L -\. .
\ ............ 2 ok
| | - | — T - & | I I | |
0 9 10 15 20 0 5 10 15 20
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—
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S

T L)

polreg(maxtemp,13)

Temperature and trend component
minimum aic = 2461.42 at order 7

yl ( |) 25| o | ‘W i‘mln h*u
g ~N(0,07) & H*f'i( “ l T HI; ol
f(x)=a, +ax+--+a x" & “11'4’ ‘ "Mm |L w b
2| ,Jhl.lr 1’.- i Il r'l.-dl, l g4 ’
= H 'I'""’r '1"11"‘”‘H
o | | | |
100 200 300 400
" i e i
z <- polreg(Temperature,13) ) 'Cl’ 2| ‘l‘ ﬁl 1|’3 1|2 ) ‘; 2| ‘I‘ 5| Bl 1|0 1|2

x <-seq(0,12,length=14)
plot(x,z$aic,col="blue",type="b",pch=19)

plot(x,z$aic,col="blue",type="b",pch=19,ylim=c(2450,2520))
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Il y _\
=B = //—=Jd N

Xl X\wmJ —

N\

2 (BT ILHE)

data(Temperature)
Isqr(Temperature)

o —ABEKEIRET IV

Temperature
and regression curve of the model with order 20

Temperature and trend component
minimum aic = 2461.42 at order7

AIC =2435.06 3~
polreg(TemperData,7)
o ZIEAXEIFETIL
AlC=2461.42 g -
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Whard7—% (ZIEXH[E)F)

data(WHARD)# Wholesale hardware data

y <- log10(WHARD)
polreg(y, 14)

# AIC’s of polinomial regression models
z <- polreg(y,14)
par(mar=c(2,2,2,1)+0.1)
plot(z$aic,type="b",pch=19,lwd=2,ylim=
c(-600,-540))

y and trend component
minimum aic = -595.98 at order 11

[ [ [ [ [ [
1968 1970 1972 1974 1976 1978
[ ]
AlIC &
' AIC vs order
. | .
.

570 -560
| |
/

-590 -580
]
|
/

-500
I

order
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s 4 KU R R E I om
y X Xo X3
AN -8.9 45.42 141.68 2.8
=9 -13.6 A43.77 142.37 111.9
AL -9.5 43.05 141.33 17.2
RS -5.4 40.82 140.78 3.0
245 -6.7 39.70 141.17 155.2
1= -3.2 38.27 140.90 38.9
&R -0.1 36.55 136.65 26.1
K5 -5.5 36.67 138.20 418.2
=k -7.6 36.15 137.25 560.2
BHR -10.0 36.33 138.55 999.1
AEE -0.9 35.17 136.97 51.1
ERH -4.7 35.52 137.83 481.8
BER -0.4 35.68 139.77 5.3
= 0.5 35.48 134.23 7.1
REB -0.6 35.02 135.73 41.4
IN= 0.2 34.37 132.43 29.3
f& ] 1.5 33.58 130.38 2.5
EER 2.0 31.57 130.55 4.3
Al 0.1 33.55 133.53 1.9
HBER 13.5 26.23 127.68 34.9




oS € T )L D HHEIR

fh =

Yoo RO, X! (2E, X BRE, Xy 1FE
Y. =a,+aX, +a,X,, +a X, +&, & ~N(0,5°)
SHBAZEEL X, Xy, Xs DR Ty, DF B ﬁﬁﬁ?& I % IR
2

— 4, _Zaj jn Jn)

AIC(X,, X,,, %) =N(log27 +1)+nlog 6° + 2(k +2)

/(a,,a,,a,,8,,0°) =

BIRSNT-EH

X1n9X3n

FERINIZET IV

y, = 40.490 —1.208x,, —0.010x,, + &,
&, ~ N(0,1.490)
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T IV

ETI [B])F %2
= AR E RE  HEDPK AIC
d d, d, d;

1 1, BE, &5 3 2.46 82.8 40.7 -1.15 -0.0098
2 1, BE, BE, &5 4 2.46 84.8 38.3 -1.17 0.02 -0.0098
3 1, RE, &5 3 7.01 103.7 147.1 -1.09 -0.0064
4 1, BE, BRE 3 7.74 105.7 94.3 -0.69 -0.53
5 1, BE 2 8.73 106.1 39.0 -1.14
6 1, BRE 2 9.60 108.0 155.8 -1.16
7 1, &5 2 26.68 128.4 -1.5
8 1 1 32.66 130.5 -2.9
9 7L 0 41.19 133.1
15 S 15 . b
10 10 10

5 5 5 |

% 0 * Gge 0 ? eer b0 0§

5 o o 5 “ . 5 .o
10 . ) o’ .10 * . :' -10 £ ) ’ 4
-15 -t -15 ‘ . -15 2 ‘ ‘ ‘

20 30 40 50 125 130 135 140 145 0 200 400 600 800 1000

" R 2
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24

160

140

120

100

80

ZHOEBICL HAICOZEAL

| .\o X3
X5
| . :(X2’X3)
X (X X3
. e (X, X,X3)
| (X1:X3)
0?0 1_|o | z_lo 3;::
AIC(x,) < AlC(x,) < AlIC(x,)
AIC(X;,X,) > AIC(X;, X3)

i :ET)l/ Xl (%E )75\5 imtkh\ 741_|:|9
X, (RE)DRIBEHE LS.

- BAFRIIETI, BECRECHEENS
(HEEE{%R%X - 0.84)
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y =40.7-1.15x, —0.0098 X, + ¢,

£ ~ N (0,2.46)

B8 1 y=-3.1,x, =37.75,X, =140.45,x, = 67.4
HE 1 y=12,% =34.68,x%, =135.19,%, =59.3

y

40.7 — (1.15)(37.75) — (0.0098)(67.4) = —3.37

y=40.7—-(1.15)(34.68) — (0.0098)(59.3) = 0.24

SR E FANE | FRNE(2)
'S -3.1 -3.37 -3.43
HF 1.2 0.24 -0.15

- FRME2) IZAICH 2D
JILETILIZE BFH
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B
HX
vy
y=|:1}Z=
Y | i
y=2a+¢

® ERDAE
a=(2'2)"'7Z"y

@ BEXZHICE DL AHE

Householderi&

« {BIEGram-Schmidti:
Givens)&

el = lly - za|/
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\-

Householder;&

U :

EFEOBEREN (RIMORSEZAEL)
el =y - zal, = U (y-Za)[, =y -Uzal;

min H8H2 <> min HUy - UZa H2
a a

Sll S1m S1,m+1

_ml
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30 1,073,741,824
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ERICHETE L 7-ET L

m=10 DHE m =20 DHE

Number of models Number of Models
K AIC ALL H-L K ALL H-L  H-L(2) H-LQ3) H-L4)
0 521.0 1 1 0 1 1 1 1 1
] 20 20 20 20 20
I 127.3 10 10 2 190 19 19 19 19
2 110.1 45 9 3 1140 171 171 171 171
3 95 1 120 36 4 4845 969 969 514 514
5 15504 3876 3876 1601 1535
4 94.7 210 84 6 38760 11628 7260 3620 3256
5 95.3 252 21 7 77520 27132 9023 4315 1021
6 95 3 210 35 8 125970 6188 1832 555 140
0 167960 4368 2366 585 85
7 97.8 120 10 10 184756 3003 1056 205 73
8 99 .7 45 6 11 167960 2002 46 19 19
12 125970 495 53 29 21
0 1017 1o 1o 13 77520 330 71 13 12
10 103.7 1 1 14 38760 84 13 7 7
1024 2273 15 15504 21 6 6 6
16 4845 15 6 6 4845
17 1140 10 5 1140 1140
18 190 6 190 190 190
19 20 20 20 20 20
20 1 1 1 ] 1
1048576 60359 27004 13037 13096
57%  26%  12%  12%
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ICHETFE L 7= BT LK ( M=30 Di5zF5 )
Number of Models
ALL H-L H-L(2) H-L(3) H-L(4)
1 1 1 1 1
30 30 30 30 30
435 29 29 29 29
4060 406 406 406 406
27405 3654 3654 3654 3654
142506 2371 23751 23751 11101
593775 118755 118755 65625 52975
2035800 475020 475020 244690 179516
5852926 1560780 1560780 672751 416592
14307150 4292145 2072070 1456774 474832
30045015 10015005 5328180 1100320 220510
54627300 20030010 4263050 1049505 272794
86493225 34597290 2771131 1127403 224052
119759850 21474180 3860990 811995 114793
145422675 30421755 5327239 411535 76331
155117520 17383860 2163454 233228 43745
145422674 9657700 1360306 125643 18592
119759850 5200300 613225 30823 2308
86493225 2704156 108418 3482 171
54627300 2496144 25235 557 239
30045015 646646 2121 353 85
14307150 167960 372 159 46
5852925 43758 407 91 31
23 2035800 1716 205 31 14
24 593775 210 19 13 9
25 142506 126 7 6 6
26 27405 15 9 8 27405
27 4060 10 7 4060 4060
28 435 10 435 435 435
29 30 30 30 30 30
30 1 1 1 1 1
1073741824 161315453 30079337 7367489 2144793
15.02% 2.80% 0.69% 0.20%
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